023 qagiea /8%
a ‘QacIa fIb Qe

(2) QU
ﬁlGlﬁﬂ geml aee! Qi 629!

il gaI8 2024 g QI9e1a Qiay 2yRaa’
QIFIRIRT 62R

Swact .\@

e-r'l
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e following statements are | 3.
ctof*Earth Rotation Day’

The Earth Rotation Day is
celebrated on January 8" of every
year

This day is dedicated to
acknowledging the discovery of
Earth’s shape »

‘This day is also celebrated t
acknowledge Earth’s na
Honouring the disco

Planet’s mov ¢




Q-2024 29A< cAeInqee 699 99
@ I UAE cagml ?

o a6 Q< (The Mont Blanc)

@ geaq e1a1@ (The Eiffel j

o 216 @ e (The Arcde Triomphe

¢ aigaq (The Panthqgt"‘i}

(D) All Four

* Al




QUGN FRIF QEAIR’ 8GR F6QIY sad g
AeMgeR OR ?




[ —

10.

9.  Which of the following statements are

correct in respect of Unijon Bu
2024-25?

()
(2)
3)
4)

(A)
(B)
©)
(D)

(1)

(2)

@3)

@)
®)
(B)
(©)
(D)

SP-1/A

Which of the followi
correct in respect
Everest Day’- 20249

dget
Total expenditure proje
Rs. 48.21 Lakh Crore 10 at

Receipts excluding Borresw:
Rs. 32.07 Lakh Crore 0 N85

Fiscal Deficit
of GDP

Net Tax Receipts Re 24 o
Crore & &"34‘-83 Lakh

land 2
2and3
l and 4
3and 4

Projected at 6.8 %

|
Ng statements are
of ‘International

May 29% ofevery yearis observed
as “International Everest Day® in
memory.ofTenzingngay

This day was first observed by
Nepa_l_ in the year 2008 in
commemoration of Tenzing
::rgay who passed away on this

Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of
exploration

Edmund Hillary was a Swiss
National

2and 4
1and?2
I and 3
3and 4

10.

geas eese - 2024-25 9l63316Q 6719
606 ABNIYER OR 7

(1)

(2)

(3)

(4)
(A)
(B)
©)
(D)

6oa AeNGER a8 ?

(1)

(2)

(3)

(A)

(B)
(©)

(D) 3c¢4

GaIe Qua 2oee 62ad 48.2]1 @4 6
(=]

ad Quele aqaia 918 adaa 32.07
M 6QIE o=l

8.8.89.(GDP) @ 6.8 % 218Q Gag
(Fiscal Deficit)

aae a1eq 919 34.83 QA 69
162
263
164
364

668" feds 9,560 goed 6a 29
2351610 I6R6AY TR AIRE 6

. o
668" 6%l 89 99 IQ 9icaa
oIS Q.ﬁela gaea 2008 .
32Q 6RAIR QIR AITT 6RINAE

264 ;_1

162

133



._‘ | QG 6 08910 eaYa NREIea QeI 9918
- OI0891 o2y agal 2023 68 NS 6o
G‘Ilﬂ'l agei@ (Organ Donation) 63939_

PO 2anas
(D) 1and4

The name of




14, ‘epoiar Gegaten 76919 694 ARMER
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QECAINA/QR100d 6AGER g
QI61a 00680 '
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(B) oIe6q 86895
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)is | 31. 60696 ARtea 4re A9Re1901 (ZCA
. ofqlegeacass?

(A) Adeeibaa




34. At the end of the Civil Disobedience
Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

34, BiaR BOIR PICRIGRG 6aB60 QiR BRENE!
FeRINER 1@ eI Q36N 1 eIRa 9aa
2eQigl 1934 60 6900 cwI0gSI ?

(A) Nagpur (A) seQa
(B) Noakhali (B) gord
(C) Jharsuguda O
()TN (D) cmge

35. Theinfamous Rowlatt Act was opposed

' . aiae (Rowlatt Act) &
by Indians because it provided for 35. zga agee, (

QIaoIanice ceaaaid S6al @QasR ?
(A) trying of sedition cases without a

4 6
jury and holding suspects in jail (A) @610l 6oacaR ANAIG3RITVA
without trial Qigq QRIS

(B) opposing the Indian national (B) Queeia Si61 QgIng Seam
movement :

215Q SQIE6Q SRl
(C) hampering the economic growth of (C) w169 2!

India
(D) <ceaig a3
(D) all of the above

36. Which of the following bauxite deposit | 36. Fafue SQaes, 99 QIESQ 6800 UKGER

is considered as the largestone in India? Q2% Q6 IR QAIAN ?
(A) Riasi and Poonch deposit (Jammu (A) G2 6 QR 'aR (915 6 KI)
& Kashmir)
(B) Panchpat mali deposit (Odisha) (B) a80s Al a'ge (6561
\_(Q) Gandhamardan deposit (Odisha) (C) sk e'ge (65a1)
‘ ¥
(D) Balaghat deposits (Madhya
Pradesh) (D) QRIQIe QAR (AuQeea)
CSP-1/A 15

[P.T.O0
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63 \\'luf:h t{! the following statements are
correel in respect of Anti-Defection

| ;I\\‘.’1I

(1) Anti-defection Law found place in
the Constitution by §2m
Constitutional Amendment ~"

2) The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989% A

(3) The Anti-defection Law was
reinforced in the year 2002

(4) Ifany Member whois independently
elected joins any political party, he
is not disqualified &

(A) 2 and4 b

B | and 3

() land2
(D) 3and4je

¢4. Which of the following statements are

correct in respect of “Special Sessions’ |

“n Parliament ?

(1) The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution @

(2) Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament

(3) The proceedings of both the
Houses of Parliament in special
sessions would be limited

(4) If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament »

(A) land2 %

AB) 2and3

(C) 2and4

(D) 1and 3)9

CSP-1/A

29

63, ©pseR Feo piIeR gagee 619 69F
agQle 0 2

(1) aflume 52 on acamea @@ S9¢
Qe ZIRR QIR OIRLR

(2) 1989 ga afiupa @0 949 0899
ERIDGR

(3) 2002 ¢a co-coe Fearn BINR L 2IgS
Q9 SauIRgNI

(4) 28 6dlad aoqy QUIT &
ERINYER, 69 64 cad 096@5
£R6Q OIS ALAIG! PN geaa |

(A) 264
(B) 163
(C) 1a2
(D) 364

e Paee
Qi@

64. Qraca Qo ZNESER JATER FEAIS =]
29qee 0= ?
(1) siee1a aAuiea a6l 8569 a*aee
QOR JYERARQ A"/ 210108

(2) eeeia aANea dial 352 (8)(%) 69
Q'ACQ YO} FNERARD RER 28

(3) Qef ZEIARER A'ARA AR aeea
QiEyIee Q1Ne QR

(4) <'QQ YA FYSI 696X a0 eqel
Qa3e 6QIaal *AAN, €96 CRIRANIR

9Q QOIS B QAIANIA I geara
QOQY QIGATS Q°QARQ YOT JNEAR
2IRIQ Hiia SRAIGS

(A) 162
(B) 263
(C) 2a4
(D) 163

[P.T.O.






67, \H;wh (l).f the following are correct?
4 ’S v - | Ly ]

-__s.Han ive Public Policies are those

whicig

67. Be0Ie eodiqle OR 7

QDA ALSRIR BQRe o, IS
(1) planand programme to get things

done ./ (1) <dwgee o caie 6 NS

(2) allocate resources/services to (2) qees an@e calgiaid An’/6as!
particular segments of larger CURINF g
society

(3) oRbenes oI geIanies AR &1 A9

(3) directly distribute benefits or costs Qe

for citizens

(4) impose restrictions on behaviours (4) zieaa 906a eCRal QARSI

(A) land4 P ol A
(B) land2 (B) 182
~/((c) 2 only : (C) seee 2
(D) 3onlyp (D) 699 3

68. Which ofthe following policiesprovide | 68 acoig sodd coide 98Q QEQIGR AAGR

a Tax refund on all or part of a poor
family’s Social Security Tax? :-g:' 39‘39 26 Q1 AQRID FGA CTARS [T

(A) Temporary Assistance to needy (A) ae odeiaqRg AMG
ARQISPFY ANER ARIASH

familics
(B) FEarned Income Tax Credit (B) 28¢ 21000 6ga
(C) Food Stamps (C) wsoyaqm
(D) Supplemental Security Income (D) 2839 Qas 218
CSP-1/A 31

[P.T.O.




69. Which of the statements about Public
Policy are Correct? ‘A Public Policy

may be;

(1) General or Specific=”
(2) Broad or Narrowda /
(3) Positive or Negative
(4) Rational or Irrational 32
(A) 1,2and4 2
(B) 2,3and4 ¥

ch 1,2and3

(D) 1,3and4 ¢

70. Which of the following statements are
correct in respect of *Distributive Public

Policy’?

(1) It is also known as ‘Patronage
j Policy’

(2) It is meant for specific segments
of Society —

(3) Itisconcemned with regulation and
control of goods and services

(4) It requires little administrative
discretion 2

(A) 1,2and4 ¢
(B) 2,3and4 -
(C) 1,3and4 ¢

(P 1,2and3,

CSP-1/A 32

A ,

69. G6qI9 696 A59ER QINehe 91 PRI

70.

Ba 7 6915 QNG 15 98 7 \

(1) ariea <l &dg
(2) 968 <1 Qg0

(3) QOIRIAR S FRIAIAR
(4) Q8999 @I @R
(A) 1284

(B) 2,364

(©) 1,263

(D) 1,364

36019 6od AGYEe ‘ATRAR 94 i
oGegaea 0R ? .

wilnot 18
(1) 21y 'Qg6q18R Q18" NS aGe
(2) w2 Qe 559 691G1/0S "I:.‘

(3) <2 ANg! 6 6N Bk
aIs 938

(4) 421 Q86 g8Iate F6eRl B

.

(A) 1,264
(B) 2,364

(C) 1,364 Al

(D) 1,283






(2)




_AA) Both are correct

CSP-1/A

e

i which of the following years the

peclaration of the Rights of the Chila:
wvas passed by UNO?

A) 1949

B) 1951

(C)

(D)

Read the following statement given below
and choose the correct alternative

statement 1- Land degradation is caused
dueto soil erosion and waterlogeing +

Statement 2- Deforestation is the major
cause of soil erosion «—

(B) Both are incorrect

Statement 1 is correct and
statement 2 is incorrect

(©)

Statement 1 is incorrect and
statement 2 is correct

(D)

35

7S, G618 698 ndvice sEaa QA ‘a4

76.

BNRIRAE 6RIAQIRINI 2REAIRE RGNS 7
(A) 1949
(B) 1951
(C) 1956

(D) 1959

adee egqde of weia a0e JeF aqa
oR |

83 | - gl 90 8 99qEe! €A1 §AR 2984
Qe

93 2 - ege fa ¢ nael 9aQ g QIed
(A) eeadR

(B) «sa g

(C) gan ad 3] 6 ]e1a @3 QR

(D) gan oS g e Fe1a @3 o

LSRO8
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]\-;mmlill Air Quality Index (AQI) i

b ched by the government to monit "
the quality of air in major urban centr:::
4CrOSS the country on a real-time basi;s
and gnh:]l.lcil'l.g__’. public awareness for
aking 111il|g;ll‘l\'c action. In this context
consider the following statements: i

(1) AQI will have “one number, one
colour and one description’ 1o
inform the public about air quality
in a simple and easily
understandable format ot

There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very

poorandsevere

he index considers eight
pollutants - PM10, PM2.5, NO,,
S0,,CO, O,, NH, and Pb

(3)

Which of the statements given above are
correct?

A7 2and3only
(B) land3only
(©)

1 and 2 only

(D) 1,2and3

CSP-1/A

43

92. aees Qiel National Air Quality [ndex
(AQI) gig! caigia coaa e avaBaed

SR anaigaica 6 91 Fe1ae 8 6896

CoRo!

Q8 o8 any 29I, 97 gaTEa 79 A8ERee
01Q 09 |

(1)

(2)

(3)

(A)

(B)

()

AQI “a@ @y, 9Q 69 6 9@ adat’
ea eroig QIga AIF @R C aleae
QUEQ RINRIRX ggm

AQl @ 635919, 92: 95, QERIaRa?,
25 gefe, 4QI0, Y@ 81 © Q1aa
QI

@ oidel 2108 9geea Jo1@ @6A =
PM10, PM2.5,NO,, SO, CO, O,

NH, e Pb

Qa6RIg 668 A8gF* OR 7
6eaR 263

e 1 a3

e 162

(D) 1,263

[P.T.O.



which disaster is most likely to b
() a0 ’ s y =
mz]ncm‘cd by ¢chimate change?
1

(A) Earthquakes ¥

[sunamis

v

(C) Tropical cyclones

(D) Volcanic eruptions P

Tidal waves are caused by which of the

0. , o 3 :
owing gravitational interactions?

foll
(A) Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the
Moon

Je) Moon’s gravitational impact on the
Earth

(D) Earth’s gravitational impact on the
Sun

97. A square shaped hole is punched in a
metal sheet whose linear thermal
expansion coefficientis 1 107 per °C.
The size of the hole will decrease by

10%, when

(A) The sheetis heated by 10 °C
(B) The sheet is heated by 100 °C
(C) The sheet is cooled by 100 °C

(D) The sheet is cooled by 10 °C

CSP-1/A

45

95. gecig ofeee

96.

97.

gaIeee 608 gdae 2u°

eoRard 7
(A) «qfien
(B) gpmm
(C) agee Sl

(D) 216qaaaad

B6AI0 698 ARIGEE S8 caig go@ 98 %9
(A) o1 a6a QIS qrieda 9eI9

(B) o2 @06 Qas1a arieda geIe

(C) qQae a6 o2 @ quieda gaIe
(D) qsit aosa Qasa ArIGda 91T

90 diee 3¢ QIRIQ 6A|e S1a14 G’QG.IIQGI
gee 1 x 10~ g& °C e1Ra6a e QIR

3¢ eaioed | See e 10% 219 QIee,
6D6EERER -

(A) @ 10 °C Qa1 98 29

(B) @ 100 °C Q91 980 9

(C) &g 100 °C Qiel 881 49

(D) @g 10 °C Qa1 281 g9

[P.T.O.
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